[image: image1.jpg]The receptionist asked the visitor (a) - The visitor replied

(b)

and asked (c) . The receptionist told him that it was not possible
because (d)

VIl.Given below are instructions to plant a sapling. Use them to complete the
paragraph that follows:

o First of all select a patch of land.
o Dig a pit with the spade .

o Mix the manure in the soil.

o Place the sapling in the pit.

o Fill the pit with the soil.

o Water the plant daily.

First of all a patch of land where the sapling is to be planted is selected. A pit (a)

with the spade . The manure (b) in the soil . The sapling (c) in
the pit . The pit (d) with the soil. The plant should be (e)
daily.

o Take one litre milk and boil it until it is reduced to half.

o Add two cups sugar and boil for five more minutues.

e Mix two teaspoons of comflour with a little cold milk and add to the boiling milk.
o Keep stirring for some time .

o Then add four to five drops of vanilla essence .

* Remove it from fire and cool

o Whenitis cool, set in the freezer.

One litre milk is taken and (a), until it is reduced to half. Two cups of sugar are
added and further boiled for five more minutes. After mixing two spoons of cornflour with a little
cold milk the mixture (b) to the boiling milk .Then four to five drops of vanilla

essence are (c) when it is cool , it (d) in the freezer.



[image: image2.jpg]Vlll.Look at the newspaper headlines given below . Use the information in the
headlines to complete the paragraphs:

1.0SCAR WINNERS' LIST OUT, FRAUD , SAYS A SPOKESMAN
Oscar winners’ list which was out on the internet says a spokesman.

2.MBA CLASSES TO BEGIN ON SEPT 20™

The centre coordinator informed that MBA classes Sept 20th,
3.HEAVY RAINS LASH DELHI
The heavy rains which today threw normal life out of gear .

4.SBI SLASHES RATE ON CAR LOANS TO 10%
The SBI today on car loans to 10%.
5.TWO KILLED IN COLLISION
Two passengers were killed when their car. with a truck.

6.VISA FOR PAK JOURNALISTS LIBERALISED

India , today announced for Pakistan journalists.

7.WOMEN RESCUE CHILD
Two brave women of Sampatpur village kidnapped by his mother’s distant
relative.

IX.Rearrange the words/phrases to form meaningful sentences:
1.the carpenter / Mary / a journey / went on / Joseph , / and / his wife

2.they arrived at/ Joseph / Bethlehem / when / in the evening, / to find / for his wife /
a comfortable place/ wanted

3.Mary / promised son / needed / was / her / awaiting / rest / and

4.Soon [ was born / after midnight / sky of Bethlehem / Jesus / under the clear
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[image: image3.jpg]Shor of the Dead Sea in Palastine and Israel.

The first group of scrolls are discovered f)
in 1847 by a group of school boys on (9)
acave . Bedouins and others has found (h)

ten more caves containing ancient writings.

Error. Correction
Without the knowledge on grammar it eg.on of
become impossible for one to write and speak (a)
correct .One can remember that all knowledgeable (b)
persons judged a man by his writing or speaking. (c)
Grammar is not something that should be learnt (d)
part by part. Its learning demands more reflection, (e)
patience and a effort on one’s part. Once it is learnt , (f)
it will be there with you all their life.It demands a (9)
willingness at your part. (h)

V.In the passage given below one word has been omitted in each line. Write the
missing word along with the word that comes before and the word that comes after
against the correct blank number:

Somnath temple is believed eg. -~ The Somnath
to have founded in (a)

gold by Lord Somnath , Moon God , (b)

to show his gratitude Lord Shiva. (c)

Shiva cured him of effects of poison. (d)

It extended in silver by Ravi. (e)

It was renovated wood by Lord Krishna (f)

And in stone by Bhimdeva. It was simply marvel. (9)
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It is a normal human eg. a very normal
tendency drop anything (a)
that is painful embrace (b)
all gives pleasure. But does (c)
that really help ? We hardly realize that the pain are (d)
undergoing whether good or (e)

for bad reasons , only going to make us stronger

and able to handle (f)
such situations future.Pain is a part (9)
of life . We incline to avoid pain. (h)

VI.Read the conversation given below and complete the passage that follows:

Meera : Rohit , have you completed your project?

Rohit : No.

Meera :Is your teacher going to scold you for not completing it?

Rohit : Our Physics teacher is a very understanding person.

Meera : 1, too , have a good teacher.

Meera asked Rohit (a) . Rohit replied (b) .Meera asked him if
his teacher was going to scold him for not completing it . Rohit replied that

(c) . Meera said that  (d)

Receptionist : Yes, what can | do for you?
Visitor : 1 want to meet the manager Mr Rao. Can | have an appointment right now?

Receptionist : 1 don’t think so. H e is not here at the moment.
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Daughter : Don’t worry about it, mom.

(a) (i)Where are you going to study?
(iii) When did you studied?

(b) (i)Didn’t you have a test tomorrow?
(i) Haven’t you a test tomorrow?

(c) (i) Aclass test is also important
(iii) A class test were important

(d) (i) But you can revise a lesson for it.
(iii)But you will revise a lesson for t.

(ii) When are you going to study?
(iv) Why are you going to study?
(i) Don’t you have a test tomorrow?
(iv) Didn’t you had a test tomorrow?
(ii) A class test was important
(iv)A class test are important
(ii) But you had to revise a lesson for it.
(iv)But you must revise your lesson.

ll.Complete the dialogue choosing the correct options:

Ray :l(a) four of my friends to dinner today.

Rina :Thenl (b) my friends also.

Ray :(c) a good idea.

Rina : So, (d) for dinner?

Ray :Letus decide the menu now.

(a) am inviting / will invite / have invited / shall invite

(b) am to invite / may invite / could invite / will invite

(c) That will be / This may be / This should be / That must be

(d) what should we have /what can we have / what may we have /what might we have

IV.The following passage has not been edited .There is one error in each line. Write
the incorrect  word and the correction against the correct blank number:

Error_ Correction
The Dead Sea Scrolls are a eg. a the
oldest known manuscript of any book (a)
of the Bible. Some of the scroll (b)
are more than 2000 year old. (c)
They are discovered in the mid (d)
1900s in caves near a northwestern (e)
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I.Complete the following passage by choosing the most appropriate options:

Like many Indian children , I grew up (a) the vast ,varied and fascinating tales of
Mahabharata. Set (b) the end of what the Hindu scriptures term Dvapur Yuga or the
third age of the man a time (c) the lives of the gods and the people still intersected , the
epic weaves myth, history, religion, science and statecraft (d) stories.

(a) (i) saying (i) listening to (iii) questioning (iv) celebrating
(b) (i) by (ii) at (iii) from (iv) into

(c) (i) where (ii) from (i) when (iv) before

(d) (i)as (i) in (iii) through (iv) into

The word rupee (a)____from the Sanskrit Rupya or Rupa which means silver. The very early
coins, before the second century B.C,, were all made (b) silver but the coins were
neither of any standard weight (c)____ had any face or value printed on them. It was Sher
Shah Suri (d)____ first gave the name rupia to the silver coins. The last silver coins [ —
minted in 1940 (f) the face of King George VI (g) them. In 1942 the silver coin
(h)__ replaced by a cupro-nickel coin for the first time.

(@) (i)come (i) comes (i) came (iv) had come
(b) (i) from (i) of (iii) out  (iv)in

(c) (i)no (ii) neither (i) or (iv) nor

(d) (i)which  (iywho (i) whom (iv) whose
(e) (i)were (i) are (iii) had  (iv) have

(f) (i) with (ii) along (i) of (iv)in

(9) (i) over (ii) on (iii) in (iv) into

(h) (i) was (ii) were (i) are (iv) had

Il.Complete the dialogue between a mother and her daughter by choosing the right
options:

Mother : (a)

Daughter : Study?

Mother  : (b)

Daughter :Itis only a class test.

Mother  : (c)

Daughter : It is a simple test.





